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Subject

Q1 Sofge ddlg ke @ 9e° 9ZIe e 29l 4o I49 98 el |
QEES DI0ge AL FRYIdE 996 |

el AOYGE! 2RI 6olIS
Elal RIS
Flaal | Qe @ | e
1. FRERY CHIERTECIE 25 45 25 65
2. Clad-Qlacer 23 186 20 32
3. Qg 25 120 12 58
4. GlRO-QIRG e 99° ader 12 100 3 5
@9 6aIRIR 6295 o8 gl FUIdlE JEHIS 6a667 (Rasod gda dyss)
Ans > 1. 10
X218
X3 15
4 27

Question ID : 264330156351
Option 11D : 264330612803
Option 2 ID : 264330612805
Option 3 1D : 264330612804
Option 4 1D : 264330612806
Status : Answered
Chosen Option : 2




Q.2 @ e @0l gas @862 5% 19° aoeel @den 2% 9F £4, 6567 ga ¢d 960 oiF 9arlen Ge ¢F gfee eaee?

Ans 21 6.1%

X2 81%
3 7.1%
X 4. 519%
Question ID : 264330156218
Option 11D : 264330612272
Option 2 ID : 264330612274
Option 31D : 264330612273
Option 4 1D : 264330612271
Status : Answered
Chosen Option: 3
Q3 12¢ 68l @R Feyfcines: QINLID B 56 kg 2l | LIULIR BRG 58 kg 2l le wdl qyizh 6814ne9 64119l
£56m 99° 9012 eyIehaa SIULIR 6ag 200 gm Qﬁ‘ il | 2R 6EE16%! < Soydnieas goal oda
@l |
Ans X 1. 77
2 63
X< 3 hgi
X 4. 49
Question ID : 264330156548
Option 11D : 264330613582
Option 2 ID : 264330613581
Option 3 1D : 264330613580
Option 4 ID : 264330613579
Status : Answered
Chosen Option : 3
Q4 729G, SRR, e 99 SYSALED, 49,000 FF6UIY 99& | ANGE FRRT 0% T 5,000 2% 99° TRIM
Qe I, T4,000 2i)a G360lg @98 | 6719 Rl 98,000 Q SRIM 6962 CIRes ?
Ans 1. ¥32,000
x 2. 230,500
x 3 %33,200
x4 334,400
Question ID : 264330156108
Option 11D : 264330611832
Option 2 ID : 264330611833
Option 31D : 264330611834
Option 4 ID : 264330611831
Status : Answered
Chosen Option: 3




Q5 @ GRT HHIQ FINIER 12 99° 629ER6 JETR 119 g4 6869 24U §AF AR AIdny S0 K9 |

Chosen Option :

Ans X1 8
X2 7
« 3 10
X4 6
Question ID : 264330156508
Option 11D : 264330613419
Option 2 ID : 264330613420
Option 3 ID : 264330613421
Option 4 ID : 264330613422
Status : Answered
Chosen Option : 3
Q.6 =
1288, 230, 276 9l m.€l.5 991dsl @9lg?
Ans X 16,440
X2 19,230
X 39,660
« 419,320
Question ID : 264330156092
Option 11D : 264330611770
Option 2 ID : 264330611767
Option 31D : 264330611769
Option 4 ID : 264330611768
Status : Answered
Chosen Option : 1
Q7 _1 1 I @ygear g 1!
32-22+{13-2(12-1-2})}) e gRuee aa |
2 4 4 4 2 2 2
Ans 21
X11l=
38
19
X2 2~
13
21
3 2 —
38
x a2
38
Question ID : 264330154038
Option 11D : 264330603618
Option 2 ID : 264330603615
Option 3 1D : 264330603616
Option 4 ID : 264330603617
Status : Answered

1




Q.8 3 qden gRue 2,000 @ ARG 32,880 94 | F 6998 Gl AIFa TUINER AR ARG 6869 ol QIR

6@6%?

Ans > 1. 12%
X 2. 28%
X3 10%
4. 20%

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

264330154054
264330603682
264330603680
264330603679
264330603681
Answered

1

Q.9 srige 24 Gren e @idt 2°gdl @5I0F | 69 6 B @IFl @8 @IF B1G6e6R | FI U8R, sAIFE 2IPEE QIFIg 21 FRsa
261G F6R | 6FIEE 99° 6dI2R 1ag 98 @lFlg 6as% Gea g @RaIfee?

Ans

v 1. 122 Gaoen
13

x 2. 12% §a6a

X 3. 125 Gq69

x4 122 Gaea
13

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

264330156238
264330612354
264330612353
264330612352
264330612351
Answered

1

Q10 g5 G¢ligl 10% AIR 966, 6EINGIR FAGL 12% RN FER I9° HPRI IRLIR 15% RIR F6S, 6565 695RA
Y9a Y 21,771 626R, 99 69978 elld gAY Taad aag |

Ans w1 31,250
X 2.31,150
<3 31,350
x 431,050

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

264330155998
264330611392
264330611393
264330611394
264330611391
Not Answered




Q.11 gauges 5 cm 98° 6 om @ Zaidls 96 edoydls §98 98 T Ui aiReg 699l dig, 5.2 cm §F ey 588 1@

Gal eleen 9886 @oIA | 6RIG0 996! (cm &g, Qafia 1 a9 EI@{‘?;B) £x607

Ans X1 145
X2 128
«3 135
xX4118
Question ID : 264330153794
Option 11D : 264330602640
Option 2 ID : 264330602639
Option 3 1D : 264330602642
Option 4 ID : 264330602641
Status : Answered
Chosen Option: 1
Q.12

Ans % 1. 5,000

QFe 6% el gIRes! 2iF od J60 6a9 faalae (X 69) 4w 4ol 31,800 6w97?

~< 2. 18,000
X< 3 8,000
« 4. 6,000
Question ID : 264330156484
Option 11D : 264330613324
Option 2 ID : 264330613326
Option 3 1D : 264330613325
Option 4 ID : 264330613323
Status : Answered
Chosen Option : 4
Q.13 3
7 cm @414 291 @ Rlin@el 2ldeq ERes (cm” eq)?
22
(m == A F9F)
Ans X' 1. 186 44
X 2 19766
X3 16844
4 17966
Question ID : 264330156368
Option 11D : 264330612872
Option 2 ID : 264330612871
Option 31D : 264330612874
Option 4 1D : 264330612873
Status : Answered
Chosen Option: 3




Q14 xiq RIEIET 6 § FaU6Ia SGURNFIGE 1ol 5186 deiSIes (100 Q) €lIReial IR €IS F6918 QIR-ElIrea

gedie 68108 |

Average Marks Scored in Mathematics by students of 6
divisions of 12th class

100 92

Average marks Scored
|5,
[=]

(Average Marks Scored in Mathematics by students of 6 divisions of 12th class — 12¢] FILILA 6 & FBUGR

89
78
70 65
60
a5 47

40
30
20
10

i}

A B C D E F

Divisions of class 12th

FUIENEIeE 19l SI8E USSR (100 Q) BRI LINLIR £II, Average Marks Scored - ARSI LIRILIR £l

Divisions of class 12th - 12¢1 HI€IFR FRISIGYER)
Q@I5 B B AU D G 629 681025 FIRIFIR FIFR AQAIG 68682

Ans 1.9:13
X21:9
X3 13:9
X41:3
Question ID : 264330154101
Option 11D : 264330603867
Option 2 ID : 264330603870
Option 3 1D : 264330603868
Option 4 1D : 264330603869
Status : Answered
Chosen Option : 1
Q.15 @ 9@ GGa guol 8Beq @38 AIF B6aIT @19 910 AITEIF! 4918 FRIGH BGTIE 2: 3: 5 §4, 6669 & QI0gfan 6e0a
AGEIE €29
Ans @ 1.15:10:6
X210:15:8
X315:9:8
X4 10:6:15
Question ID : 264330156292
Option 11D : 264330612569
Option 2 1D : 264330612568
Option 3 1D : 264330612570
Option 4 ID : 264330612567
Status : Answered
Chosen Option : 1




Q.16 R P46 ARERR FING 4@ IALST 200 km REU Tl UYIR TANG ISR KB AR AT | K68 ARERR FIRG
20 km/h 6961661 9=° 2I9Y JIRESM IRA 30 km/h 69665 QIgl 966! | 64CIRG IRING 6LERIG 6966 Afg

@UTS?
Ans X 1.5 glél
o 2. 4 416l
X3 45 &l
X 4. 55 gl&l
Question ID : 264330156274
Option 11D : 264330612497
Option 2 ID : 264330612495
Option 31D : 264330612496
Option 4 1D : 264330612498
Status : Answered
Chosen Option: 3
Q.17 33 aBeldq A1dsq. 9910 SIR g4 ARIde M) Fia S | 95 FE69 QAR aBFIg 7.5 Ao 2R, 6669
F66%5 902 V1R RS AN 2R 6768 VIG ASIDL?
Ans P
X1 6 QYA
v 2 1.5 Q9
X 3. 9 QoG
X 4 95 Qoo
Question ID : 264330153800
Option 11D : 264330602663
Option 2 ID : 264330602664
Option 31D : 264330602665
Option 4 1D : 264330602666
Status : Not Answered
Chosen Option : --
Q.18 ¢aiFa geisn 160 o4 cqGe Cia 94 520 @ICY 2ial | 10 7 €60 20 94 6RI2 §ol 917 ARIRER | 9616 LIR63 2l
6a60 delEl (B9 69) IR GlIeY QEeT
Ans x 1. 1{]{}
« 2 96
X3 84
X 490
Question ID : 264330156495
Option 11D : 264330613367
Option 2 ID : 264330613369
Option 31D : 264330613368
Option 4 1D : 264330613370
Status : Answered
Chosen Option: 3




Chosen Option :

Q.19
2,a 652 Q0 AAIQUIGT 269 |
Ans 2
x1 2=
5
2
w2 2
2
2
x 3 22
2
2
X a 2
3
Question ID : 264330153809
Option 11D : 264330602702
Option 21D : 264330602701
Option 3 ID : 264330602699
Option 4 ID : 264330602700
Status : Answered
Chosen Option : 1
Q.20 A& 16T @RQ Q Q4 (MY 24 ARQ Q 94 MY AFEG ARIR @9, 666Q MIN FEAER 6R66?
Ans X 1.25%
o 2.50%
X 3.40%
X 4.20%
Question ID : 264330161014
Option 11D : 264330631389
Option 2 ID : 264330631390
Option 31D : 264330631388
Option 4 ID : 264330631387
Status : Answered
Chosen Option: 3
Section : Reasoning Ability and Problem Solving
0.1 ] L] =
496 dgarlool 7' dIeosl @'d wel 2ISslia?
52395 ? 1535 6143 24575
Ans X 1. 361
v 2. 383
X3 312
X 4 347
Question ID : 264330151493
Option 1 ID : 264330593601
Option 2 ID : 264330593602
Option 3 ID : 264330593599
Option 4 ID : 264330593600
Status : Not Answered




Q2 goeuf san aog mia fgon faieesl aegfen enifen gaidie @ad 4de arle Aneg desiarn aIves aEdua

@R |

(Sege 2dgd 608 e aIeen Peronl AT 2R 99° 996 AER Ll / Ee 4 e / geed e
PlISER d0ga 22 666 6991 853 96F)

FIaeen 4o | F1e9e
X 1. g (agie) | dIeg 9

¢ 2. JRERIY Q1 RYeR (6QUUIAT) : dL@ Q1 AICY (69'9C)
X3 94 geof

Ans

X 4 98 F19Q1

Question ID : 264330154642
Option 11D : 264330606031
Option 2 ID : 264330606033
Option 3 1D : 264330606034
Option 4 1D : 264330606032
Status : Answered
Chosen Option: 3

Q.3 ggea gedc 6l 6F 98 adag MN 60 SN 6862 GRILIRASI Gea 90 add 9BFa cae 9ag |
M

Kd27z4r

N
XToypsZSd
X21pxLTb
v31pAsVSbX
X+rvsVSbi

Ans

Question ID : 264330151506
Option 11D : 264330593654
Option 2 ID : 264330593651
Option 3 1D : 264330593652
Option 4 1D : 264330593653
Status : Answered
Chosen Option : 2




Q4 & CHILDREN a0 96646 2505 odaIq 9a60 4986 @alal, 666w cacsil Ba0a ae 2abiels ode?

Ans X1 GeqlE
X 2 QIEQIT
¥ 3. 6QlIGN
X 4 Q@G
Question ID : 264330154328
Option 11D : 264330604778
Option 2 ID : 264330604776
Option 3 1D : 264330604775
Option 4 1D : 264330604777
Status : Answered
Chosen Option : 2
Q.5 du@ Gh“'q:@ G Qﬂ@ﬁ die AERI60 9 | ISl Wl6R @6l &< «2M OIg GQQ@Q @ 6Q1m G4l E]gegsa w1l
2Igdleg 996 A998 9eY 691R ARl 685 | 998 395989 4248 S169 29904 @29 fud &
@Q@ﬂ@ﬁi 2ldélyg Due Q@‘E‘IE‘L 099 |
@ﬁ_)@: g ‘E‘Ef, TBIR 26T | T8 NS, SR, 26T | 618K G, 46 6" ES§ I
oad 1. ang Qfl, GG ST | ]
fad 11: 69168 NI, ¥a 6F ged |
Ans = @
X 1. g@g 899 (1) 6 (1) 29908 K62 |
v 2 {98 (1) Bl (1) 29908 969 91E |
X 2 6R9R 884 (1) 29994 K6 |
X+ 609f G99 () 2g99d 969 |
Question ID : 264330155912
Option 11D : 264330611054
Option 2 ID : 264330611053
Option 3 1D : 264330611052
Option 4 ID : 264330611051
Status : Answered
Chosen Option : 2




Q6  9a HEY 671G WUNIEE, BACK' §'17 GIR6R 6@ 6IRE ¥5° DIDC’ § '31' QIF65 6915 69I0E | 998 6719

BUTIER TAAM TSl 64y @6l 6997

Ans 1. 40
<220
<3 35
W4 25
Question ID : 264330155819
Option 11D : 264330610682
Option 2 1D : 264330610681
Option 31D : 264330610680
Option 4 1D : 264330610679
Status : Answered
Chosen Option: 1
Q7 Gofge ereu-eLIRgRaeR 29l aIFl 2°sen Bae SIFER Al 9B 91Nl §e16 2°gl €I 6RIRRl |
6915 696 GAR K9G, 6AWIER 291 LHYIPET FIRYE 69563 291 L HUIGRS OF 9aae 6TIR26S |
(GEIY : GNIgES c2FIge QALIR 2e 26N FEIEE 295 Joll €°6Ml QU6R SIFEe GRIS degisl @Qude |
LEIZKE R, D54l 13 Q6T 6AISVTEAIGER SIS CISES Gl QR QAUIQURS | 13 § 2l 199° 3
60 Gem G091 ¥9° LIE6al 1 99° 3 Qe Sl&iEa el afen Q09| gednet @6‘5)
8,128
9,162
Ans 1 14,392
X 2. 12,149
<3 13,170
x4 11,124

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

264330151619
264330594106
264330594104
264330594105
264330594103
Answered

3




Q.8 A8+ 99— g A9 FIIGR AGRIGR QAN 99° ' 98° = § JRYA FRIER ATRITH FAUAN 6568
Gy 9mMaess 7' dIvesl &4 9FEIde 699 |

15-6+12x3:4=7
Ans X1 9

X2 7

#3. 5

X410

Question ID : 264330154662
Option 11D : 264330606113
Option 2 ID : 264330606114
Option 31D : 264330606112
Option 4 ID : 264330606111
Status : Answered
Chosen Option : 1

Q9 Qa1 R4lFIIRl 9F ARINCH TLR AFFAER T4 TF (7) 699 999 FI IEIITS 6892
CSP, EUQ, GWR, IYS, ?
Ans X 1. JAR
X2 LBT
X3 IBS
4 KAT

Question ID : 264330155783
Option 11D : 264330610537
Option 2 ID : 264330610538
Option 3 1D : 264330610536
Option 4 1D : 264330610535
Status : Not Answered
Chosen Option : --




Q.10 ¢ad Gy Og vae eog caPacn FaIIReRl 3 (X) 1910 8% GIeca emsaide saed (Qde e 8gad QIE)!

(X)

Ans

SRCE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

264330151725
264330594530
264330594528
264330594527
264330594529
Answered

1




Q.11 9e Goa eaie GIRIER, ‘yes you can’ § ‘an of df GI960 691G 68Iad 96° you are enough’ @ ‘sk dt hw’ GI959

6RIF 6HRE | 998 AHIER You' @Ud 6918 6TIRE?

Ans w1 dt
X2 hw
X3 cf
x4 sk

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

264330151706
264330594452
264330594453
264330594451
264330594454
Answered

4




Ans

413 GemEle 980 961 6
7V C
= T z|lz v
3 D T 3
=V
X113 7 0O
Z C
=V
X2ic Z O
7 3
v O
X33 7 =
Z C
v O
vialcZ
7 3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

264330154761
264330606508
264330606509
264330606510
264330606507

: Not Answered
Chosen Option :




Q.13 g0q Fagdq fde 99, Qg 998 999 4a4 JINgEasa 9FIR FIgUIER 2198 A6m 9T 8938 QIRER 9°ge

6ee |

BK_Y _KUT R_PO MKK_ HK_E

Ans X 1. WBHZP
X 2. ZKWLF
X 3. WKBFP
« 4 ZWKJF
Question ID : 264330154729
Option 11D : 264330606381
Option 2 ID : 264330606380
Option 3 1D : 264330606379
Option 4 1D : 264330606382
Status : Not Answered
Chosen Option : --
Q.14 Giom adlen, 656, o, FREQ 6 6291 QNG F'64 #18 06m Dag g 07 16 LREeadIse ¢E5E |
lge 919 DI 619g9R 26 AR6a 9E8T | F1Uew PIRld AR 24 9I6a edlal @@aBI edlale QIRId Qg 24
AR50 Rl 9ESE | @Rl 919 e 36 ARER FAEe PEeE | Fedins @IF AR 24 A960 990! 93FE |
FoRE G198 AR 36 9IR6a @49 @3ad?
Ans 1. BEell
X 2. @9l
X3 Qgal
X 4 FoEla
Question ID : 264330155661
Option 11D : 264330610047
Option 2 ID : 264330610048
Option 3 ID : 264330610049
Option 4 1D : 264330610050
Status : Answered
Chosen Option: 2
Q.15 , : &
dY'el dgarlool 7" g6l @'dl tlwel 2I9sla?
11 59 299 1499 7499 ?
Ans 1. 37499
X 2 38199
X 3. 37699
X 4. 38499
Question ID : 264330151469
Option 11D : 264330593503
Option 2 ID : 264330593505
Option 3 ID : 264330593504
Option 4 1D : 264330593506
Status : Not Answered
Chosen Option : --




Q16 goe grea afie SI6 gRuaInes AITE 6e6m ge1eg wYd @Rl 28100 AITIQ 988 @3 |

NO_N__NO__ON
Ans X 1. ONOON

o 2. NONNMN
X 3. OOONO
X 4 NONON
Question ID : 264330151653
Option 1 ID : 264330594242
Option 2 ID : 264330594241
Option 3 ID : 264330594240
Option 4 ID : 264330594239
Status : Answered
Chosen Option: 2
Q.17 ’ ’ &
dY'el dgarlool 7" g6l @'dl tlwel 2I9sla?
4 19 79 319 1279 2
Ans X 14913
¢ 2 5119
< 3. 5299
X 4. 4875
Question ID : 264330151459
Option 11D : 264330593464
Option 2 ID : 264330593465
Option 3 1D : 264330593466
Option 4 ID : 264330593463
Status : Not Answered
Chosen Option : --




Q.18 ger G946 ¢ Fudg UIe FERIER 198G | DXIRE RIES K&l 291 G2l O 6995w B9 691R Gel ag2lem Al

2lodg 0ea 89395 964 691A AIRCIg 689 | 09R 39R4Rg 9RMS GI6T 2gaad QpRe Gu
Gudqeq 2Uag S99 A0RIg 689 |

Q9%: 9919 6EFIQ, IR 6T | GF Fa, AR 269 | 909 2F, 66He 269 |

94 1 A8 6TrIR, PR AT |
fad 11: 999 g@, R 269 |

X1 oo ded (1) 6 (1) 29998 K69 |
X2 §9d (1) 89 (IN) 2AgY0E 969 QI |
v3 6090 Gad (1) 29908 969 |

X+ 609f fad (1) 299048 969 |

Question ID : 264330155907
Option 11D : 264330611034
Option 2 ID : 264330611033
Option 31D : 264330611031
Option 4 1D : 264330611032
Status : Answered
Chosen Option : 2

Q19 GoRge erau-6aIT6R, G2F oaHIcR TS SIEER Oae D6RIS SR T910 Soal QI SRIKIN | 69T 695 SRR
F0g 6062169 L°HUIGER FARYS 695 PR 26 gER 0 QFle AINER IARS ZI6T |

(IR §2g: LHITG SIFIN JORKIS 2RYRIER 6@ G9R AFTR oo QUER ISR QIdYges atel
2SR | ARIFHE Yo - AT LIIGER BeUE SR SIFEe QIIYRe 13 QUER ARILIRKIRG 1139163
69 QIEF 68 QEI6a AIFET @Iy @Bl aInl AgAE f1E)

16: 41
11:26

Ans X1.5:15
X2 21:84
X3 7:28
v412:29

Question ID : 264330154650
Option 11D : 264330606066
Option 2 1D : 264330606063
Option 31D : 264330606065
Option 4 1D : 264330606064
Status : Not Answered
Chosen Option : --




Q.20 4@+ 6'-q a9ge ISR 8° X 8 £'q 9090 FRIER AReeR @RIal, Eeer Y ddladen Al g9 82 (?) Aeen

@E 0Ee?
23+2+41-84%14="7

Ans X1 21
X231
X3 1
4 11
Question ID : 264330155668
Option 1 ID : 264330610075
Option 2 ID : 264330610077
Option 31D : 264330610078
Option 4 1D : 264330610076
Status : Not Answered
Chosen Option : --
Section : General Awareness
Q.1 3R 2023 60, AFRARNUR AUFEAE G Talsl 661& QuIetig wda1 eifiaedd adelasa g4
aAee FEQl6a gaIA QIR 9QE e 641 caIRgem | I8 IfaRdd 684I0I6a 29Fe
c@IRSYMI?
Ans X 1.9101Q
2. Qeriga
o 3.991a
X 4. clepdal
Question ID : 264330161153
Option 1 ID : 264330631943
Option 2 ID : 264330631946
Option 3 ID : 264330631944
Option 4 ID : 264330631945
Status : Answered
Chosen Option : 3
Q.2 69ME° (welding) QI QER AUIQER IQEE TR, RE2AAR 61 (ethereal odour) ATE IR Q1R
aMIa YGGRR (acetylene) @ @4@Fe QI (systematic name) &'61?
Ans X 1. Q2I6RIRR 2IRQInelae (Ethanoic anhydride)
& 2. Q2IQQ (Ethyne)
5 3. 26RIR62Q (Azoethane)
& 4. Rala 9d66'q (Ethyl acetate)
Question ID : 264330161050
Option 11D : 264330631533
Option 2 ID : 264330631532
Option 3 ID : 264330631534
Option 4 1D : 264330631531
Status : Not Answered

Chosen Option :




Q.3 @1 QIUE A ARARR 626 6RC0I6a JEFE 62IRMI?
Ans X 1.0@RAIQ

X 2. 0dee

o 3. 6200

X 4. 606meRIRl

Question ID : 264330160890
Option 11D : 264330630892
Option 2 ID : 264330630894
Option 31D : 264330630891
Option 4 1D : 264330630893
Status : Answered
Chosen Option : 2

Q4 QUG AFUINA 62 UIQI 6RF 9Q° IDIQ A%R ARG AFFE?
Ans X 1.2IQ0 36-51

o 2.0 1-4
< 3.9 5-11
< 4.1 12-35
Question ID : 264330159894
Option 11D : 264330626926
Option 2 ID : 264330626923
Option 31D : 264330626924
Option 4 ID : 264330626925
Status : Answered
Chosen Option: 1
Q5 G ege adag easan (The Great Indian Novel) @ 910 RS 90 ISR TGS 26T |
Ans

X 1. gAyels Aol
v 2§18 g9

X 3. G|adl 6941012
X 4 6@ 2R FIQILE

Question ID : 264330155496
Option 11D : 264330609387
Option 2 ID : 264330609390
Option 31D : 264330609389
Option 4 ID : 264330609388
Status : Not Answered
Chosen Option : --




Q.6 QAR AIRS AAFIANA AQ1 FAIQ 6QAT AGAg AT cQIRaN?
Ans o 1.000

X 2. 661QIeQN
X 3.9y
X 4. Q6ea1
Question ID : 264330161496
Option 11D : 264330633314
Option 2 ID : 264330633311
Option 31D : 264330633313
Option 4 1D : 264330633312
Status : Answered
Chosen Option : 2
Q.7 QQEA RIS ASIRIER, ‘AAIR 2QAIGER QAR QIR FIQET, URI B CIQ AQR Q&P QI GaGPI’
AR &9 ggIQ 6aaem?
Ans X 1.0.Q6RQ 991
¥ 2. QQI2I0RIA 6062Q
X 3.991Q REQIR A65R
75 4. €1Q1¢) QlIR1
Question ID : 264330161747
Option 11D : 264330634318
Option 2 ID : 264330634316
Option 31D : 264330634317
Option 4 1D : 264330634315
Status : Answered
Chosen Option : 2
Q.8 QAEER, ‘A’ (Aus), ‘AR’ (Aman) G ‘6QI6QI (Boro) AIRGEe MG 606 FAM ARE RE6?
Ans #1210
X 2,694
< 3.ag
X 4. 04l
Question ID : 264330161510
Option 11D : 264330633368
Option 2 ID : 264330633367
Option 3 1D : 264330633369
Option 4 1D : 264330633370
Status : Not Answered

Chosen Option :




Q.9

68651 TRETRIR gamia 2023 (68th Filmfare Awards 2023) 62 @9 658 QRGUT FILQ (J9F) YOS

(Best Playback Singer (Male) Award) §&gjsm?

Chosen Option :

Ans e
1 PIREE @°
X2 gelIge eolgla
< 3. ﬂlﬁ‘
X 4 Fle g
Question ID : 264330155516
Option 11D : 264330609468
Option 2 ID : 264330609467
Option 3 ID : 264330609469
Option 4 1D : 264330609470
Status : Answered
Chosen Option : 1
Q.10 AIRERI FINRIQ JEYRIFRR SQIQS G BAGE IR AUAER 6Q6 FAUAR A°Ql QI 266
Ans X 1. QQ0q §Q §if 9l QUie (SIDBI)
o 2. Q010 e @4 (RBI)
X 3. 01919 98 G gIFl Q@ QUie (NABARD)
X 4.9q406 218 9geow 6916 2T @&2I (SEBI)
Question ID : 264330157285
Option 11D : 264330616505
Option 2 ID : 264330616503
Option 31D : 264330616506
Option 4 1D : 264330616504
Status : Answered
Chosen Option : 4
A1 o —_ _-_
Q Gﬂﬂﬁ:ﬂ@@ @dqyld (3 LI SRdlew 4O GSEJI‘E‘@‘E’E“E‘ @ |
Ans = =]
X1Q Llole' ClalGlel - @GS cuslin
A 8 (AN Qlfﬂf&‘il\— ‘?l‘ﬁ' Gl 2law
<3 ﬂ‘ill%“-iﬂ G- ElE1e SRl
X4 Q ‘RQG@Q‘E‘IQQ\ EJE]: ﬂ‘i‘l\ - ey ZIEl
Question ID : 264330155501
Option 11D : 264330609410
Option 2 ID : 264330609409
Option 3 1D : 264330609407
Option 4 1D : 264330609408
Status : Not Answered




Q.12 QURY6Q AT @616Q 2,00,000 Goq FYF geaIe QF FEQI QA6REI6R FREE AUQ 6@ AURIER
9e Qge1Qe 6afiegea @18 @I dedicated Semiconductor Policy 2022-27 2107 @QUAIRE?

Ans

X 1. 6a0m
X 2. cRieig

" 3. ggaic
X 4. 29 9694l

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

264330161409
264330632966
264330632963
264330632964
264330632965

Status : Answered
Chosen Option: 3

Q.13 RgRge FUQ 6R6E 6RQ AQRIAF QIQGIAR 26P (legislative organ) 21662

Ans

X 1. @4@6a¢

25 2. Q4RI

o 3.9°00

X 4. Q6619 IR,

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

264330159920
264330627030
264330627027
264330627028
264330627029
Answered

1

Q.14 RqRGE PAM FAQ 66T QY FIARI (Black Soil) AR 2Ye QAP 2662

Ans

X 1. aal
X 2.6Q0)89
X 3. QR
o 4@

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

264330161316
264330632592
264330632591
264330632593
264330632594
Not Answered




~ an

Q.15 g6 aeIeQd 641 AIRG F1eredin1ea calq adedn 21T8 | YR §o6a 6ARRgRaI 1@ g

QIgY AAQYI 266 | RIS FIQ 6RAE 6FFRPRAIN IR RIS 2662
Ans X 1.6dGQ QaQe

5 2. 20%@ I8 dae
o 3. Y QUM Jg SlIeY 2BIPI6R SRS

2 4. B89 ¢levea BeIFea Aale

Question ID : 264330156610
Option 11D : 264330613830
Option 2 ID : 264330613828
Option 3 ID : 264330613827
Option 4 1D : 264330613829
Status : Answered
Chosen Option : 4
Q.16 15 26lg 1947 6a GlaR6RGi@ SIARQ VNG QI 62Q1 AAAER FIRGS AUQ &9 QQea
QARANL, 6m?
Ans X 1. R0 aemalesl
2 2.@0 Gean
o 3. A AIRgRIIeeR
X 4. Q0 GRgreQ
Question ID : 264330160824
Option 11D : 264330630629
Option 2 ID : 264330630628
Option 3 ID : 264330630627
Option 4 1D : 264330630630
Status : Not Answered
Chosen Option : --
Q.17 6@ Q&I @aQ QEY8IR1 &, 89 ‘ade Gag AgIR'@a day/dal gem eal ARG 26¢
9Q° NG 6991 Q R66l AYRIQT QUV6R MY @Aem?
Ans X 1.9Q@dea
o 2. 661Q01 QRIS
X 3.6d10IR Aled°
K 4.4 geree
Question ID : 264330159063
Option 11D : 264330623611
Option 2 ID : 264330623612
Option 3 ID : 264330623613
Option 4 1D : 264330623614
Status : Not Answered

Chosen Option :




Q.18 QIaeaq gaq quIeag1 Age IR 6R62Q 2IGI6Q ‘64 GO 6@ 6mIGEl°, @l 2leeil 661

Qaeml dIR... 616 6Nl QIO @gdq1 ¢ §gc aa |
Ans X 1.¢0990 QT
o 2. Q01 F6EPIRA

X 3. 28l exudem

< 4. gerdl
Question ID : 264330160980
Option 11D : 264330631254
Option 2 ID : 264330631251
Option 3 1D : 264330631252
Option 4 1D : 264330631253
Status : Answered
Chosen Option : 2
Q.19 QARGE AUQ 606 AIRIER JAF FRRISTL 66IF F6RIFQ AQFE 6RIRAMI?
Ans o 1.G0al
X 2. @ledg
X 3. 906610
X 4. 219 J6Q4l
Question ID : 264330161127
Option 11D : 264330631839
Option 2 ID : 264330631840
Option 3 ID : 264330631841
Option 4 1D : 264330631842
Status : Answered
Chosen Option: 1
Q20 Gemige rip 6re 99 639160 GIGR ERGIR QIS X GISTG SR BITR IRIEREN gemka-2021 (STGRIR1 2023 62
geIe AQUDiaml) ffem?
Ans =
X1 eelIERIelz el
X 2 giEigad
« 3. Qela
X 4. QLI
Question ID : 264330155518
Option 11D : 264330609478
Option 2 ID : 264330609477
Option 31D : 264330609476
Option 4 1D : 264330609475
Status : Not Answered

Chosen Option :




Q.21 2023 adgleq
JegIa gele eaem |

Ans o 1. Q600
X 2. Qiedgr
< 3.6009

&4 goer

68960 QlerQ §éig 6aQ! AR gear &°¢, ANCa UYAE age

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

264330161443
264330633099
264330633101
264330633102
264330633100
Answered

1

Q.22 QUAERISYAR G Q6 68IR1
Ans X 1.@gce

5 2. aiae

X< 3. Qege

QAR 2l6e |

o 4. 0I0RAIQ

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :
Chosen Option :

264330159049
264330623555
264330623557
264330623558
264330623556
Answered

1

Q.23 QUQEQ FRCIARI 2011 2GAIL, FERI AFVAG! AIQ
Ans o 1.65.46%

6QIR 609 QAUAIRE |

< 2.75.35%
7 3.55.84%
X 4.70.24%

Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :
Status :
Chosen Option :

264330161557
264330633558
264330633557
264330633555
264330633556
Answered

1




Q.24 GgRge 39 QAMRIA JIRGER AUQ 6R6T QARIR AIRGIRER 29g6?
Ans o 1.90(

X< 2. QRQIRIQ

& 3. dRagaga

X 4 emiaIR
Question ID : 264330162697
Option 11D : 264330638108
Option 2 1D : 264330638109
Option 3 1D : 264330638107
Option 4 1D : 264330638110
Status : Not Answered
Chosen Option : --
Q.25 984 AIRINE (savings account) @ QERENY @'61?
Ans o 1. @0 Qd6eQ Q AdIRQ!
X 2,000 Q6 ARE!
< 3. UPRIAR6Q AR dR0 @A
X 4. 60000 Q0QIa @RQ!
Question ID : 264330157301
Option 11D : 264330616568
Option 2 1D : 264330616569
Option 31D : 264330616570
Option 4 1D : 264330616567
Status : Answered
Chosen Option: 1
Section : English Language and Comprehension
Q.1 Select the most appropriate meaning of the underlined segment in the given sentence.
After her husband passed away, Jane had to learn to bite the bullet and take care of the
household on her own.
Ans X 1. Criticise someone harshly
" 2. Accept a difficult situation bravely
/< 3. Create a difficult situation
25 4. Run away from a difficult situation
Question ID : 264330152922
Option 11D : 264330599270
Option 2 ID : 264330599268
Option 3 1D : 264330599269
Option 4 1D : 264330599267
Status : Answered
Chosen Option : 4




Q.2 Select the most appropriate option to fill in the blank.
Augmented Reality (AR) continues to develop and become more
range of applications.

Ans X 1.idealistic

among a wide

X 2. rare
" 3. pervasive
#< 4. amicable
Question ID : 264330151905
Option 11D : 264330595238
Option 2 ID : 264330595235
Option 3 1D : 264330595236
Option 4 ID : 264330595237
Status : Answered
Chosen Option : 3
Q.3 Select the INCORRECTLY spelt word.
Ans X 1.Pleasant
X 2. Grammar
75 3. Familiar
o 4. Aweful
Question ID : 264330152828
Option 1 ID : 264330598906
Option 2 ID : 264330598905
Option 3 ID : 264330598903
Option 4 ID : 264330598904
Status : Answered
Chosen Option : 4
Q.4 Select the most appropriate option to fill in the blank.
All praised him when he soared in the business world, but the same people him when
he failed in business.
Ans X 1.dramatised
" 2. criticised
< 3. nourished
< 4. supported
Question ID : 264330153576
Option 11D : 264330601801
Option 2 ID : 264330601800
Option 3 ID : 264330601799
Option 4 1D : 264330601802
Status : Not Answered

Chosen Option :




Q.5 Select the word which means the same as the group of words given.
That which can’t be read.

Ans X 1.Incurable
#< 2. Inaccessible
25 3. Irrelevant

o 4. lllegible

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1264330152570
1264330597884
1264330597883
1264330597886
1264330597885

Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate option to fill in the blank.

A/An fellow cannot become an ideal teacher.
Ans X 1.bright
o 2.idle
< 3.intelligent
75 4. honest
Question ID : 264330153355
Option 11D : 264330600974
Option 2 ID : 264330600971
Option 3 ID : 264330600972
Option 4 ID : 264330600973
Status : Answered
Chosen Option : 3
Q.7 The following sentence has been divided into four parts. Identify the part that contains an
error.
(A) Taylor, Richard, and / (B) Francis plays for / (C) the state / (D) basketball team.
Ans X 1.A
X 2D
X 3.cC
o 4.B
Question ID : 264330152616
Option 1 1D : 264330598070
Option 2 ID : 264330598067
Option 3 1D : 264330598068
Option 4 ID : 264330598069
Status : Answered
Chosen Option : 3




an error.
The platinum is a precious metal.

X o1is
X 2.a

/X 3. precious metal

Ans

" 4. The platinum

Q.8 Parts of the following sentence have been given as options. Select the option that contains

Chosen Option :

Question ID : 264330155201
Option 11D : 264330608264
Option 2 ID : 264330608265
Option 31D : 264330608266
Option 4 1D : 264330608263
Status : Answered
Chosen Option : 4
Q.9 Select the most appropriate meaning of the underlined idiom in the given sentence.
A man of character, he stuck to his guns even in the most difficult situations.
Ans X 1.Tofind a treasure
X 2. To behave disrespectfully
¥ 3. To stand firm against all difficulties and challenges
< 4. To do things that would please people
Question ID : 264330152880
Option 11D : 264330599112
Option 2 ID : 264330599111
Option 3 ID : 264330599114
Option 4 ID : 264330599113
Status : Answered
Chosen Option : 1
Q.10 Select the most appropriate idiom to fill in the blank.
Please tell me about the meeting
Ans X 1.ina huff
X 2.inastew
&" 3.in anutshell
X 4.inaspin
Question ID : 264330152597
Option 11D : 264330597994
Option 2 ID : 264330597993
Option 3 1D : 264330597992
Option 4 1D : 264330597991
Status : Not Answered




Q.11 Select the most appropriate option that can substitute the underlined segment in the given

sentence.

| considered Geography as an easier subject.
Ans X 1.the easier

/X 2. an easiest

o 3. an easy
X 4. the easy
Question ID : 264330155423
Option 11D : 264330609101
Option 2 ID : 264330609102
Option 3 1D : 264330609099
Option 4 1D : 264330609100
Status : Answered
Chosen Option : 4
Q.12 Select the most appropriate ANTONYM of the given word.
Authentic
Ans X 1. Wise
o 2. False
X 3. Moderate
X 4. Actual
Question ID : 264330152675
Option 11D : 264330598305
Option 2 ID : 264330598304
Option 3 1D : 264330598306
Option 4 1D : 264330598303
Status : Not Answered
Chosen Option : --
Q.13 Select the INCORRECTLY spelt word.
Ans X 1. Territory
" 2. Acknowlege
X 3. Excellence
< 4. Business
Question ID : 264330152688
Option 11D : 264330598358
Option 2 ID : 264330598356
Option 3 1D : 264330598357
Option 4 ID : 264330598355
Status : Answered
Chosen Option : 2




Q.14 Select the most appropriate word to fill in the blank.

Ans

Ministry of education has announced that students can
twice.

X 1. give

o 2. take

X 3.get

X 4. participate

the Board Examinations

Question ID : 264330153506
Option 11D : 264330601536
Option 2 ID : 264330601537
Option 31D : 264330601535
Option 4 1D : 264330601538
Status : Answered
Chosen Option : 4

Q.15 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don't find any error,

mark ‘No error’ as your answer.

As they driven through the dark, twisting lane / down which they had walked earlier, Lucius

heard / the whistling of the night air in his ears.

Ans X 1. down which they had walked earlier, Lucius heard
< 2. No error
/< 3. the whistling of the night air in his ears.
& 4. As they driven through the dark, twisting lane
Question ID : 264330153212
Option 11D : 264330600409
Option 2 ID : 264330600410
Option 3 1D : 264330600407
Option 4 1D : 264330600408
Status : Not Answered
Chosen Option : --
Q.16 Select the most appropriate meaning of the given idiom.

Ans

Pay an arm and a leg for something
X 1. Be devoted to unwanted things

/X 2. Pay a lot of attention to an incident
/< 3. Give a lot of love and care to someone

¥ 4. Pay a lot of money for something

Question ID : 264330153438
Option 11D : 264330601277
Option 2 ID : 264330601276
Option 31D : 264330601278
Option 4 ID : 264330601275
Status : Answered
Chosen Option : 4




Q.17 Select the INCORRECTLY spelt word in the given sentence.

The handloom shop at the Ring Road has many kinds of bags, such as paper, leather, cloth
and cannvas.

Ans X 1. Paper
«* 2. Cannvas
X 3. Leather
X 4. Cloth

Question ID : 264330153302
Option 11D : 264330600763
Option 2 ID : 264330600766
Option 3 1D : 264330600764
Option 4 1D : 264330600765
Status : Answered
Chosen Option: 2

Q.18 Select the option that can be used as a one-word substitute for the given phrase.
One who lends money to others at a very high rate of interest.

Ans X 1. Numismatist
25 2. Curator
¥ 3. Usurer
/5 4. Bankrupt

Question ID : 264330152674
Option 1 1D : 264330598300
Option 2 ID : 264330598301
Option 3 1D : 264330598299
Option 4 1D : 264330598302
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate synonym of the given word.
Trivial

Ans  # 1.Minor
X 2. Formal
/X 3. Decisive
X 4. Fatal

Question ID : 264330152683
Option 11D : 264330598338
Option 2 ID : 264330598336
Option 3 1D : 264330598337
Option 4 ID : 264330598335
Status : Not Answered
Chosen Option : --




Q.20 Parts of the following sentence have been underlined and given as options. Select the
option that contains an error.
What most off us want most is to move forward.

Ans  # 1. most off
X 2.isto

X 3. move forward

X 4. want most

Question ID : 264330153209
Option 11D : 264330600395
Option 2 ID : 264330600397
Option 31D : 264330600398
Option 4 1D : 264330600396
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The most common hazard in forests is forest fire. Forest fires are as old as the forests
themselves. They pose a 1. not only to the forest wealth but also to the entire regime
to fauna and flora seriously disturbing the biodiversity and the ecology and environment of a
region. During summer, when there is no rain for months, the forests 2. littered with
dry senescent leaves and twinges, which could burst into flames ignited by the slightest
spark. The Himalayan forests, particularly, Garhwal Himalayas have been burning 3.
during the last few summers, with colossal loss of vegetation cover of that region. The
youngest mountain ranges of the Himalayas are the most 4. stretches of the world
susceptible to forest fires. The forests of the Western are more 5. vulnerable to forest
fires as compared to those in the Eastern Himalayas. This is because forests of the Eastern
Himalayas grow in high rain density.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans X 1.failure
X 2. trend
X 3. mercy
o 4. threat
Question ID : 264330151933
Option 11D : 264330595343
Option 2 ID : 264330595346
Option 3 1D : 264330595344
Option 4 ID : 264330595345
Status : Answered
Chosen Option: 3




Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The most common hazard in forests is forest fire. Forest fires are as old as the forests
themselves. They pose a 1. not only to the forest wealth but also to the entire regime
to fauna and flora seriously disturbing the biodiversity and the ecology and environment of a
region. During summer, when there is no rain for months, the forests 2. littered with
dry senescent leaves and twinges, which could burst into flames ignited by the slightest
spark. The Himalayan forests, particularly, Garhwal Himalayas have been burning 3.

during the last few summers, with colossal loss of vegetation cover of that region. The
youngest mountain ranges of the Himalayas are the most 4. stretches of the world
susceptible to forest fires. The forests of the Western are more 5. vulnerable to forest
fires as compared to those in the Eastern Himalayas. This is because forests of the Eastern
Himalayas grow in high rain density.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1.keep

X 2. drive
«” 3. become
X 4. build
Question ID : 264330151934
Option 11D : 264330595349
Option 2 ID : 264330595347
Option 3 ID : 264330595348
Option 4 1D : 264330595350
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The most common hazard in forests is forest fire. Forest fires are as old as the forests
themselves. They pose a 1. not only to the forest wealth but also to the entire regime
to fauna and flora seriously disturbing the biodiversity and the ecology and environment of a
region. During summer, when there is no rain for months, the forests 2. littered with
dry senescent leaves and twinges, which could burst into flames ignited by the slightest
spark. The Himalayan forests, particularly, Garhwal Himalayas have been burning 3.
during the last few summers, with colossal loss of vegetation cover of that region. The
youngest mountain ranges of the Himalayas are the most 4. stretches of the world
susceptible to forest fires. The forests of the Western are more 5. vulnerable to forest
fires as compared to those in the Eastern Himalayas. This is because forests of the Eastern
Himalayas grow in high rain density.
SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1.badly
/< 2. enough
o« 3. regularly
X 4. rarely
Question ID : 264330151935
Option 1 ID : 264330595353
Option 2 ID : 264330595352
Option 3 ID : 264330595351
Option 4 ID : 264330595354
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The most common hazard in forests is forest fire. Forest fires are as old as the forests
themselves. They pose a 1. not only to the forest wealth but also to the entire regime
to fauna and flora seriously disturbing the biodiversity and the ecology and environment of a
region. During summer, when there is no rain for months, the forests 2. littered with
dry senescent leaves and twinges, which could burst into flames ignited by the slightest
spark. The Himalayan forests, particularly, Garhwal Himalayas have been burning 3.

during the last few summers, with colossal loss of vegetation cover of that region. The
youngest mountain ranges of the Himalayas are the most 4. stretches of the world
susceptible to forest fires. The forests of the Western are more 5. vulnerable to forest
fires as compared to those in the Eastern Himalayas. This is because forests of the Eastern
Himalayas grow in high rain density.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no.4.

Ans

X 1. greasy
" 2. vulnerable
/< 3. outrageous

< 4. mysterious

Question ID : 264330151936
Option 11D : 264330595357
Option 2 1D : 264330595358
Option 3 1D : 264330595356
Option 4 1D : 264330595355
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The most common hazard in forests is forest fire. Forest fires are as old as the forests
themselves. They pose a 1. not only to the forest wealth but also to the entire regime
to fauna and flora seriously disturbing the biodiversity and the ecology and environment of a
region. During summer, when there is no rain for months, the forests 2. littered with
dry senescent leaves and twinges, which could burst into flames ignited by the slightest
spark. The Himalayan forests, particularly, Garhwal Himalayas have been burning 3.
during the last few summers, with colossal loss of vegetation cover of that region. The
youngest mountain ranges of the Himalayas are the most 4. stretches of the world
susceptible to forest fires. The forests of the Western are more 5. vulnerable to forest
fires as compared to those in the Eastern Himalayas. This is because forests of the Eastern
Himalayas grow in high rain density.
SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no.5.
Ans X 1.deeply
" 2. frequently
75 3. closely
< 4. barely
Question ID : 264330151937
Option 1 ID : 264330595361
Option 2 ID : 264330595360
Option 3 1D : 264330595362
Option 4 ID : 264330595359
Status : Answered
Chosen Option : 3




